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Exercise 1 The position, velocity and acceleration of a mobile are given by:
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) Draw the position of the mobile for t=0;t=90;t=180;t =270;t =360
) Draw the velocity of the mobile for t=0;t=90;t=180;t=270;t =360
3) Draw the acceleration of the mobilefor t=0;t=90;t=180;t = 270;t =360
) Complete the trajectory.

) What could be the mobile in real life ?

Exercise 2 The position, velocity and acceleration of a mobile are given by:
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Draw the position of the mobile for t=0;t=1;t=2

2) Draw the velocity of the mobile for t=0;t=1;t=2
3) Complete the trajectory.
4) What could be the mobile in real life ?
5) What is constant in this trajectory ?
Exercise 3 The position, velocity and acceleration of a mobile are given by:
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1) Draw the position of the mobile for t=0;t=1;t=2
2) Draw the velocity of the mobile for t=0;t=1;t=2
3) Draw the acceleration of the mobilefor t=0;t=1;t=2
4) Complete the trajectory.
5) What could be the mobile in real life ?
6) Whatis constant in this trajectory ?
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Exercise 4 The position, velocity and acceleration of a mobile are given by:

( t cos(90t) ) ( cos(90t) — 2t sin(t) ) ( —35sin(90t) — 3t cos(90t) )
X = v = a =

t sin(90t) sin(90t) + 2t cos(t) 3 cos(90t) — 3t sin(90t)

20 18 & 47 18 18 14 93 12 41 - 8 B8 7 B & 4 3 2 A 0 1 2 3 4 5 8 7 B o W 1 1z 3 14 18 1B 17 18 18 22 21 2

1) Draw the position of the mobile for t=0;t=1;t=2;t=3;..;t=20
2) Draw the velocity of the mobile for t=0;t=1;t=2;t=3;..;t=20
3) Draw the acceleration of the mobilefor t=0;t=1;t=2;t=3,;..;t=20
4) Complete the trajectory.

5) What could be the mobile in real life ?



